The horse is the cow.

The sheep is the cat.

The dog is the cow.

The pig is the sheep.

The horse is the sheep.

The duck is the sheep.

There hen is the pig.
Thereduckis ________ the hen and the cat.
Therecatis _______ the duck and the dog.
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1. Complete with is/are and the correct preposition:

The two ducks are a pond.

The horse is a pig.

The goat is the cow and the pig.
The goose is the dog.

The horse is the sheep.

The chick is the hen and the rooster.

2. Write T if the sentences are true and F if the sentences are false.
There is a cat next to the dog.
There is a cow next to a goat.
There is a goose in front of a goat.
There is a pig next to the horse.

There is a donkey next to the dog.
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3. Complete with is/are and the preposition.

The farmer is the dog.

The pigs are the hen.

The dog is two sheep.

The three duchs are two cows.
The horse is two cows.

The two cows are the three duchs.

The three duchs are the sheep and the pigs.
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